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2.120 W = 300 N,

S;

R; (49 g4 M=)
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a = 30°,

known W, «, 04, 05, 0,

unknown  Tph4, Tpp Tpe
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. FBDISIA 5F, =0, P - W=0

= P = W= 300N
FBD29] A
(TDA)y = _TDA COS«, (TDA)h, = TDA sina
(Tpy), = —(Tpy), sinf, = —Tp, sina sinb,
(TDA)Z = (TDA)}L COSHA = TDA Sil’la COSQA
(Tpp), = ~Tpp cosa, (Tpp), = Tpp sina
(Tpp), = (Tpp), cosly = Ty sina cosfy
(TDB)Z = (TDB)/I, Sil’l@B = TDB SinO{ SinHB
(TDC)y = _TDC COS«, (TDC)}L = TDC Sil’lO[
(The), = (Tpe), cosby = Tphe sina cosb,
XF=0 = P+ Tpa+ Tpg+ Tpc=0
SF, =0, (Tpy), + (Tpp), + (Tpe), = 0

-Tpy sina sinf, + Tpp sina cosly + Tpo sina cosf, = 0

6, = 50° 6, = 40°, 0, = 60°

M; FBD1

_TDA Sil’l@A + TDB COSQB + TDC COS@C = O
-Tp4 sind0°® + Tpp cosd0° + Tp, cosb60° =0

ZFy 0, P+ (TDA)y + (TDB)y + (TDC')y

=0

Thy cosa + Tpp cosa + Tpho cosa = P

Tpy + Tpp + Tpe =

P _ 300N

COS«
S Ty, + Tpp + The = 346.4 N

SF, =0, (Tpy). + (Tpp). + (Tpe). =0

Tpy Sina cos@, + Tpp sina sinfz -

TDA COSGA + TDB Sil’l@B -

cos30°

- @

Tpe sina sinf, = 0

Tpe sinfp- =0

Tpy cosd0° + Tpp sind0° - TpHo sinb0° = 0
= 0.6428 Tp, + 0.6428 Tpp — 0.8660 Tphe = 0
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Tpa + Tpg + Tpe > WSl °lH)

n

Tpy = 147.6N, Ty, = 51.3 N, Ty = 147.6 N



